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Art Knowledge Organiser. Year 9: Personal Possessions and My Room
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In this unit of work, we look at two themes: Personal possessions, and My
Room. These projects enable you to explore drawing and painting objects that
have specific meaning to you, and to explore the idea of a space that is your
very own. We look at the work of Sir Michael Craig Martin, a British artist
interested in objects, and Vincent Van Gogh, who painted his own little roomin

What will you learn?

(overview of knowledge)
Students will be revisiting vital skills
covered in Y7 and Y8, these skills will
be important should they choose to
take Art at GCSE. They will be
researching, experimenting, drawing
and designing their own artwork.

What skills will you learn/develop?

Re-visiting observational drawing
technique

Perspective drawing

Painting/oil pastel/printing
Analysis at GCSE level

Flat colour theory

Support/Challenge:

https://www tate_org.uk/art/artists/sir-michael-craig-martin-955
https://www vangoghmuseum nl/en/collection/s0047V1962

Below are some key words/phrases we will be using in the classroom:
COLOUR TONE LINE FORM
DRAWING SKILLS TECHNIQUE ANNOTATE
HARMONIOUS MODERN STILL LIFE DETAIL
FLAT COLOUR WATERCOLOUR MIXING PAINT
PERSPECTIVE OBSERVE ANNOTATE ANALYSE
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TERM 3 YR9 Noughts and Crosses
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Characters:

Callum- Nought, in love with Sephy
Sephy- Cross, in love with Callum
Jude- Callum’s brother

Lynette- Callum’s sister

Ryan- Callum’s father

Meggie- Callum’s mother

Kamal- Sephy’s father

Jasmine- Sephy’s mother

Minerva- Sephy’s sister

Sarah- Sephy’s maid

Key terms:
Superior
Inferior
Segregated
Discriminated
Prejudice
Degrading
Oppressed
Climax

Anti-Climax
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DEVELOPING SECURED ADVANCED EXCEPTIONAL
Clear response to the | Thoughtful and original | Clear critical Demonstrates an 5:6
task and engagement | response to the task. engagement with the exploratory analysis of 9!4 My Senses MGT
with the text. References and quotes | task. Precise and the text which touches "
References and quotes | successfully integrated | meaningful quotes are | on several clearly é:é Tt tastes.. It feels .. It looks.. It smells.., It sounds...
are effective. into explanations. successfully integrated | expressed ideas. 904 /
Comments on implicit | Potential implicit into explanations. Precise and meaningful () ’j ] /(/
meanings. meanings discussed. Implicit and alternative | quotes are seamlessly 5:6 ) 4
meanings are discussed | integrated into é" I f\ -~
effectively. explanations. E ¥
iA range of !wtent\al é‘\ sweet prickly dark fresh loud
I TS A7 %:é sour smooth shiny delicious noisy
discussed with i bitter rough long bitter quiet
confidence. éﬁ\ crunchy soft skinny rotten silent
é:é salty hard fat salty squeaky
Explanations of writers' | Explanations of writers | Analysis of writers’ Writers’ methods are i chewy silky thin smoky creaky
methods are clearand | methods and use of methods is considered | explored and analysed %ﬁ\ dry thick small sour melodic
supported by accurate | subject terminologyis | and original. Subject in detail. é:é Juicy :“Cky '“Ef S spicly ﬁhzz_;,;
and relevant use of effective and carefully | terminology is used with | Subject terminology is i f’,‘“* re“h": spﬁch: Tﬂ € : Sf” )
subject terminology. considers specific precision. used astutely. éﬁ\ msl::lLs btlffnpy brl"?gh . “:“::g a:ﬂienTng
Clear links between the | effects. Context is exploredin | Context is explored 5:6 delicious i, dotted adll
context and the text. Detailed links between | detail and embedded precisely and i
text and context, within the analysis. convincingly develops %\
ot AR IAHAIAH Ik

Sassy sentence openers

Two adjective beginnings: Quiet, slow steps down the
stairs so as not to wake anyone.

-ly beginnings: Quickly | opened the fridge and | grabbed

the milk.

the bright sunshine.

Time: Early in the morning, my alarm rudely wakes me.
Place: Curled in bed, | bury my head and try to ignore the

alarm.

Noun: | slipped my foot onto the floor forcing myself to

move.

@ ook @ say

Weriting - things to remember

OH5TRAMPS
0 onomatopoeia
H hyperbole
5 senses
T triple

R repetition/ rhetorical question
A alliteration/anaphora

M metaphor

P personification

S simile/sibilance

cover "write
~
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Source

Mouth

Drainage Basin

Water Cycle

Erosion

Flood

Engineering

Water
Consumption

Channel
Characteristic

Partition

Transpiration

Watershed

Where a river starts.

Where a river ends.

The area of land drained by a single river.
Also called a catchment.

The process by which water is moved
between the atmosphere, land and oceans.

The removal of material from the banks or
bed of a river channel by the action of
water or the material water carries.

An overflow of water on to land that is
normally dry.

The adaptation of the environment by man
in an attempt to control natural processes.

The pattern of water use by man for
domestic, agricultural and industrial
purposes.

A means by which to describe or compare
river channels that can include width,
depth, velocity, discharge and the size and
shape of material carried in the river.

The division of British India in 1947 into two
nation states, India and Pakistan.

The process by which water taken in by the
roots of a tree or plant is released from the
leaves as water vapour.

The area of highland that separates the
drainage basins of two adjoining rivers.

Geography - Year 9 Term 3 — Rivers and India
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Upstream Downstream

State of ground /
Geology antecedent conditions

Relief Drainage

i Catchment size
Causes of flooding

Vegetation
Attempts at management

Meteorological

Catchment shape Land use



Treaty Of Versailles

Appeasement

League of Nations

Year 9 history knowledge organiser term 3: Why was Europe

at war again by 1939?

The Causes of World War Il

The first World War
Armistice between the
Allies and Germany was the
agreement that ended the
fighting in the west of
Europe on the Western
Front.

This was the policy of many
countries when Hitler first
started to take over Austria
and parts of
Czechoslovakia. They gave
in to Hitler's demands in
order to avoid going to war.

The countries that won
World War | (1914-18) set
up an organization called
the League of Nations. They
wanted the League to be a
place where countries
could settle disagreements
by talking instead of
fighting.

EEACE

[THE EVENTS THAT LED TO WAR |

March 1936 Germany sends troops into the Rhineland (area on the French-German
border) going against the treaty of Versailles. Britain and France do
nothing.

March 1938 Germany joins with Austria, again against the treaty of Versailles.

Britain and France do nothing.

Hitler puts pressure on Czechoslovakia. Britain and France finally
decide to get involved. A deal is made at Munich.

o Hitler agrees not to take over any more land

 Britain & France agree that Germany may take over part of Czechoslovakia

September 1938

March 1939 Hitler ignores the deal he made at Munich, and takes over the rest of
Czechoslovakia. Britain & France humiliated.

August 1939 To avoid the possibility of a war on two fronts, Hitler makes a non-
aggression pact with the Soviet Union. The Nazi-Soviet Pact.

LATVIA
1938 DENMARK SWEDEN

LITHUANIA

g

GERMANY

BELGIUM
POLAND

FRANCE SLOVAKIA

SWITZER AUSTRIA

oy HUNGARY

ITALY
YUGOSLAVIA

September 1st 1939  |Germany invades Poland

September 3rd 1939 |Britain and France declare war on Germany

April 1940 German troops invade Denmark and Norway

May 1940 Germany invades the Netherlands and France. German blitzkrieg

(lightning-war) has enormous success. France taken over in 6 weeks!

RUMANIA

3

Poland ] Czechoslovakia

Sudetenland



YEAR 9 — REASONING WITH GEOMETRY. ..
Rales

{o do?

By the end of this unit you should be. able to:
» Solve speeq, distance, time questions
Use distance time graphs

Solve density, mass, volume. problems
Solve flow problems

» Use flow graphs

* Interpret rates of change and their units

Convert: change

Mass: a measure. of how much matter is in an object. Commonly measured by weight
Origin: the. coordnate (0, 0)

Volume: the amount of 3D space a shape takes up

Substitute: putting numbers where letters are — replacing numbers into a formula

—_—————— e ————————
L]

e e |
Do Nt T . - |
| Speed Distance, Time | i Speed, Distarce, Time = oY |
: | .
: “per” for every speed = dlstcance [ :
| ¢ 80 miles per hour (mph) time I'l Before calulitions — moke sure you are X 60 |
I Travel &0 miles every hour : | working in the same. unts as the speed |
! ' |
0 05 1 2 25 I
| Zggb(cea?wuﬁef Hours I : Learn or learn how o . _ distance |
: il [ rearange the formular for ime = speed :
| cabuate dstance Mies 0 40 80 160 200 || speed dstance and time |
[
I . _ . |
I L1 Substitute in the variabes glen e e |
| ¢4 O bodt traveks at a corstant speed for 2.5 hours Bar models | r I
I It travels 300 mies can help to = - T 1
| 300 e cabuate mph 11 Distance — Time araphs |
I i | | Gradient = speed |
: ' Eahpatshaf 1 The steeper a gradent the faster |
I | | | | anhor | | the speed I
| = > Coch oart s 60 | : 10 _ 2 metres per min Horizontal ines represent stauing stil |
| < > ach part is 5 =
| 2.5 hours mies | | |
,_______________________________________________{| [
. I = |
| Density, Mass, Volme g |
I mass e I
| density = mass volume = : g The distance coming closer |
| volume density | | S to home shows the retum |
| £ Joumey |
| | | £ I
I mass = volume X density : | 8 |
I g
I | I g |
Units are
| volme. of prism Orea cf ross X Depth : : mportant :
I =
| section R Y : 0 5 10 1T?me (Zr(r)linufjs) 3035 Moters per minite :
- P
- """ ~—"=-"-/""”/"”/—"/"'7/ 7/ 7/ /7 /0 S T T T T T T T T T T T T T -
Flow problems & araphs | Rates of change & units
| Common rates of change relationships Speed: mies per hour
This wil fil at a constant rate, then as the space decreases it wil | Exchan .
speed up and the neck of the bottle fill ot a faster constant speed | Revisit your conversions belween units change. raes: elros per pounds

Units are important
N Ersure any volume
£ cakulations are the same unit
° as the rate of flow

I

| +1000

: melres kilbmetres
|

The cyinder wil fill at a constant speed

I
I I :
I I |
| | |
I
: | | of lngth and capacty Density: mass per olme :
I
I I :
I I |
| I |
I I |



YEAR & — REASONING WITH GEOMETRY. ..
o S0NiNg ratio & proportion problems

————————————— —lr—————————————————————————————————|
What do | need to be able |1 Feywords
to do?
Proportion: a comparison between two numbers
By the end of this untt you shoukd be. b to: Rattio: a ratio shows the relative size of two variables

* Use conversion graphs by the same scale factor
* Solve problems with inverse proportion Inverse. proportion: as one variable. is muttipled by a scale factor the other is diided by the

* Solve ratio problems same. scale. factor

| I |
| I |
| I |
| I |
| |
|
Solve. problems with direct proportion : : Direct proportion: as ore variabe 1s muttipled by a scale factor the other variabke is muttivled |
| |
) |
) |
* Solve ‘best buy problems : : :

) |

e I e e e |
e, T T T T |
| Direct Proport|on gy e anable chupggs e lverchargs - @ | | Conversion Graphs carvure o vtk R )
| = Th tiicative cha : | g <—— This s aWays a straight. Ine because. as one variable I
| s @ multploalie change | I § 80l - # Increases so does the other dt the same rate |
: 4 cars of pop = £240 I : = ; :
o) 50
| 4 cars of pop = £240 . >\ 12 cans of pop = £720 o I T mies To make conversions between unts you need to find the |
| S ] ‘ £120 S : I / point to compare — then find the associated point by I
> cans of pop =
I This multipler is the same if you work out how much | | is vital 9 P Y o I
| Showing your conversion nes help as a “check” for I
In the same way that this one. unit is worth first | | sobtiors

: would be for ratio eq Lean of pop = £060 I | I

I I
______________________ 4

I
I l I
| : ' |
| Examples of inversely proportiona T s inversely proportional to G. When T=2 then G =20 | I To cakuldte best buys you need tobe abke to |
| Lo +2 I compare the cost of one unit or units of

I < N /\ l 4 I
Time taken to il a pool and the l equal amounts I
: number of taps unning T | 4 8 I |
| 6 50 | a0 | 5 I Shop A B |
Time taken to paint a room and the | | 3 cans for 93 I
| rumber of vorkers AN | | 4 cans for £120 cars for 43p|
!_____________________iz___+_4 _____ I l£1.20+4 l£0.93+3|
———————————————————————————— - |

e I

lcans £030 leanis £031
:Sharm a whok into a given ratio 0: : | Finding, a vaboe given In (or ) (R ] : | Cotperten o S, :
I Jomes and Lucy share £350 n the ratio 34 (]| nside i box are blue and red pers in the ratio 51 | | : I
I Work out how much each person eams [ | there are 10 red pers how many blue pens are | | Shop Alis the best vale as it is I cheaper per ||
: Model the. Question James : : there? : | can of pop :
| James: Lucy (111 T Model the Question Blse pers I : Shop A I
34 HEEC Y Omrm i ot el0 D L |
I Lucy I . - Ore.unit | | 4+ £1.20 l 3+ £0.93 |
: F—L\lzchl;heﬁ\ga:g ofonepat 350 7-£50 : : - ‘igepgg Red pers - 10 pens : | Costper £lbus 3333 £lbwgs 323 :
b ) l ound

| 7 parts to share between D = one part I I : i cars; of pop cars. of pop I
| (5 Janes, 4 Ly - £30 [ | Put back into the qestion I I

’ Ble pers = 5x 10 =50 pens |
| Put back into the. avestion I Bix Red I | Shop A s stil shown as being the best vale bt | |

Put back into the question I I
| James 30e50-£50 5 . I (I1111 | | pou dttention to the unt you are calculating per I
James: Lucy : : . o) W : | item or per pound :

[u—

X 50 i|’ £350] | 50 |O Redpens = 1x 10= 0 pens | I : I
QE, 50 EQOOD HEEE 1 | : Best vabe i the most prodct for the |
L 4 tn0-pa00 11| There are 20Be Pens ¥ owest price per unt I
LK e e S ]



YEAR 9 — REASONING WITH GEOMETRY. ..
Puthagoras” theorem

@whisto_maths

A
I
| What do [need to be able |} Freuwords |
| to do? ! |
I o
| By thuﬂg end of this unit you shoukd be abe to: : : Square rumber: the output of a number multiled by itseff :
' e square and o roofs 11 Square root: a vae that can be mutipled by ttself to give a square number |
| ¢ ldentify the hypotenuse 1 Hapot the rcest . . . |
| = Calulte the hypotenuse 1 ypotenuse: the larges §|de on a right ahgled triangle. Owaus oppostte the right angle |
I« Find a missing sice in a Right andled il Opposite: the side oppostte the angle of interest |
: trange | : Odjacent: the side next to the dngle of nterest I
*  Use Pythagoras” theorem on axes | I
' |
. ’ I
| Explore. proofs of Puthagoras” theorem | I
R J
———————————————————————————————————————————————— -I
I 1] :
| SQUGP’ €s W‘d Square r OOtS o vV isthe square root symbol I Identrfu the’ hUPOtCﬂUS@ :
o oo ooo oooo Thscanako be vidten as 62 _ ]
| OO0 OO0 OOOO %‘/6_4;=S I :
| oooo I |
| 1<l 2x2 3x3 4x4 5x5  6x6  7x7  8x8 4x4  10x10 1] / :
I I -
A 6 25 36 49 64 8 100 I Hypotenuse :
I 1]
S be. I
L ___Z e ___ I |
r T, T T T T T Al |
| Determine if a triangle is right -analed ” The hypotenuse is akays the |
: I longest side on a triangle because it |
| If a triangke s right-angled, the sum of the squares of the shorter sides wil equal the I is opposite the biggest angle |
| square. of the hypotenuse I :
I Il
| 2) a? + b? = hypotenuse? I :
I ° I I AN Po I
_ ~ jgors can stil have. a
I eg a’+b* = hypotenuse?  qyifing the numbers into the Il e hgpotgnuse £t is splt op o |
| 32+42 = 52 } theorem shows that this is a Il trarges ard opposte a gt |
La =3 b=4 ¢-=5 9 +16 =25 right-angled triangle ” ange
,_::::::::::::::::I?________________________________I.-_—_—_—_—_—_—_—_—_—_—_—_—_—_—_-.
| Cakuiate the hypotenuse || Cabulate missng sids 1| Puthagoras” theorem on a |
I . .
: 6 . Either of the : | Etther of the I: w :
| 3cm cm short sides | | Hypoteruse 15 cm short sides I| |
| . can be | | con be |I Find the length of the Ine segment |
| Huvoteruse wbeledaorb | | obeled aorb || o |
| yp I : a 12cm :| i B The segment can |
| | | T — be made into a I
I a? + b? = hypotenuse? | : a? + b%? = hypotenuse? :| z right-angled I
| | | [ triange by addng |
| v I 122+4b% = 152 I| | the sides on the |
| Substitute in the | 0
: wles foraandp | 3 T6° = hypotenuse® : | | Substiute in the vales you are gven :: o zE e et dagram :
| 9 + 36 = hypotenuse? | : 144 + b? = 225 :| The ne segment is the hupotenuse I
| 45 = hypotenuse? | o o | I
| 2 To find the ypotenuse™ : Rearrange the equation by subtracting the shorter I| a? + b? = hypotenuse? |
I iz | | square. from the hypotenuse squared :I — I
| square root the V45 = hypotenuse I | b2 =111 | The lengths of a and b are the |
I | Square root to | |
| sum of the ~ | | find the length { I sides of the triange |
squares of the 6. 71cm = hypotenuse D ot see b =V111=1054cm |
: shorter sides |l |L Be.carefulto check the scaks on the axes :
—_—— e o —— —_—— e —



Reggae Knowledge Organiser: Year 9 Summer term

Reggae Rhythm Reggae Melodic patterns

Reggae music uses a rhythm which is offbeat. This is the definition for when the J J

Reggae Instrumentation

main pulse or beat of the song is on beats 2 and 4 rather than beats 1 and 3.

ONBEAT RHYTHM JJ%” J}J\U

Risin; Rising-flat Rising-fallin,
4 1 2 3 & g Baos

) Ly, B e==

e ] =
SRR PUI Bt

Falling-flat Falling

R

[ Rl

Reggae Harmony

o~ RRcRE-+ RN

210003 X02310 XXXx321 X32010 Xxo0132 023000

G Major | Aminor | Bminor C Major D Major E minor

Chorus




| Drive Phase

Body keanng forward

Head looking down

Shorter fast strndes

Quck punmping action with arms

[ CAN DISPLAY CONFIDENCE WHEN LEADING A WARM UP TO SMALL
GROUPS WITHIN MY CLASS.

[ CAN FOCUS ON ASPECTS OF MY TECHNIQUE THAT T NEED TO IMPROVE
UPON TN A RANGE OF ACTIVITIES.

[ CAN LIST THE KEY COACHING POINTS FOR A RANGE OF TRACK AND FIELD
EVENTS.

[ (AN EXPLAIN HOW MY PERFORMANCES ARE SIMILAR TO AND DIFFERENT
FROM OTHERS

Acceleration Phase

HEART ( RESILIENCE )

[ HAVE SHOWED GOOD RESTLIENCE IN A RANGE OF ATHLETIC ACTIVITIES,

INCLUDING BUTH TRACK AND FLELD EVENTS, Yea r 9 Athletlcs S sirengt ;—‘ ® 101051\ E ofafit
[ HAVE SHOWN GOOD RESILLENCE WHEN WORKING INDLVIDUALLY AND AS S [Tolation:-- ; T 1 PELTY,
A PART OF A TEAM ACROSS A RANGE OF FIELD AND TRACK EVENTS THIS I = extensic g

TERM. {{_}l ofation: sxises JoWe
L HAVE PUSHED MY BODY AND CHALLENGED MYSELF TO TMPROVE ACROSS A - Howa :
FANGE OF ATHLETIC EVENTS. St John Fisher

Catholic High School |

[ AM ABLE TO SHOW A GOOD REPLLCATION OF SKILLS ACROSS A RANGE OF
ATHLETIC TRACK EVENTS.

[ AM ABLE TO SHOW A GOOD REPLICATION OF SKILLS ACROSS A RANGE OF
ATHLETIC FIELD EVENTS. : _
Arms shoulder width Palse vour Mips :: :,' fast (on the & i ] i I I .

[ AM ABLE TO COMPETE TN A RANGE OF TRACK EVENTS, INCLUDING Fingers Bridged Hsal doling ¢ . 0
100M, J00M , R00M, S00M AND HELS. Guck b onflose | | Bodywagnt | | Pempams o, bt - RRdrive _

Body .eu)"' Stgh?h leanirng ‘f"-l e 1 BT Y. Y T TTT B A ]l

[ AM ABLE TO COMPETE TNV A RANGE OF FLELD EVENTS, INCLUDING TRIPLE farward | | forward o 30| SUUlI NE( d |
JUMP, SHOT PUTT, JAVELIN AND HIGH JUMP. S brsich i S Eissor o SCISS

111 sy ¥ - EF§ LI IEE

I

L]
[~
L
.

s




L CAN RECOGNISE WEAKIVESSES LN OTHER PLATERS AND CAN USE BASLC TACTICS TO
HELP MY TEAM SUCCEED.

L CAN ANALYSE PERFORMANCES AND [ CAN IMPLEMENT A VARTETY OF STRATEGLES
FOR IMPROVEMENT

L CAN PLAY A FULL GAME AND T KNOW MOST OF THE RULES.

1 (AN DEMONSTRATE ORIGINALTTY AND SOPHISTICATION WHEN MAKING TDEAS
HAPPEN THAT CONTRTBUTE TO THE UNTQUE /EXCEPTIONAL QUALTTY OF
PERFORMANCES

HEART ( RESILIENCE )

[ HAVE SHOWED GOOD RESTLIENCE WHEN PLAYING AS A TEAM.

T0 SHOW PATLENCE AND RESTLLENCE WHEN FLELDING TN ROUNDERS.

HANDS

[ AM COMPETENT WHEN THROWING, CATCHING AND BATTING, AND SHOW
ACCURACY AND VARLETY

[ CAN SHOW A HIGH LEVEL OF CONTROL, CONSISTENCY AND PRECLSION IN
MY SKILLS

[ (AN STRIKE THE BALL WITH POWER AND T AM ABLE TO PLACE THE BALL IN
THE GAPS IN THE THD

MY SKILLS HOLD UP WHEN PUT UNDER PRESSURE

Pitch Layout

Umpire
2nd

Deep 3

Back stop

Year 9 Rounders

What is Rounders?

A sport with two teams with a maximum of 15 players. No more than 9 players on the
field at any one time.

Games are played on a square shaped pitch, divided by posts and boxes.

Score points by hitting the ball. One point or half a point (Rounder) depending on
where the player gets to in the field.

The bowler bowls the ball to the batter who hits the ball forward on the Rounders
Pitch. The batter then runs to as many posts as possible before the fielders return the
ball to touch the post the batter is heading for.

Players are assigned "positions”.

If the batter reaches the 2nd or 3rd post in one hit, the batting team scores ¥ a
Rounder. If the batter reaches 4th post in one hit, the batting team scores a Rounder

Games are usually played over 2 innings with the aim of the game to score the most
rounders. This is normally 30 “good balls”.

The play should be recorded on an accompanying scoresheet.

Key Words

Batting Team— This is the team who are
batting, normally 9 players.

Fielding Team:-This is the team who are in
field, normally 9 players.

“OUT” —This means you have been caught
or stumped out.

“IN” =This means the umpire has deemed
you arein.

Obstruction—This is where a player gets in
the way of another player, normally in field.
The player who is obstructed get % rounder.
Wait at first —You have hit the ball
backwards, you have to wait at first post.
Ball— These can be hard or softer, you need
to catch the ball to get someone out.
Bat—There are three types of batt you can
use. This is used to hit the ball.

Post— These are normally white and used to
‘stump’ the ball.

Stump: This is the motion of the ball
touching the base or post.

Rounder- This means you have scored 1
(point) called a rounder.

Half a Rounder-This means you have scored
¥ (point) called a rounder.




[ CAN SELECT APPROPRIATE FLELD PLACING.

[ CAN PLAY A FULL GAME AND [ KNOW MOST OF THE RULES.

I (AN USE STRATEGLES AND TACTICS IN RESPONSE TO (HANGING
(IRCUMSTANCES.

[ EXPLATN HOW MY PERFORMANICES ARE STMTLAR TO AND DTFFERENT
FROM OTHERS.

HEART ( RESTLIENCE )

[ HAVE SHOWED 00D RESTLIENCE WHEN PLAYING AS A TEAM

LHAVE SHOWN RESTLIENCE WHEN WORKING IN A TEAM THIS HALF TERM

HANDS

[ AM COMPETENT WHEN THROWING, CATCHING AND BATTING SHOWING
ACCURACY AND VARLETY.

[ (AN DEMONSTRATE BOTH THE ‘SHORT" AND 'LONG" BARRLER WHEN
FIELDING.

WHEN BATTING T MAKE GOOD CONTACT WLTH THE BALL

[ CAN THROW AND CATCH WITH SOME SUCCESS OVER SHORT DISTANCES

CRICKET BOWLING GRIPS

Fast Ball

First Two Fingers

Thumb

Index

Middle F'nger
Finger

N

Spin

Thumb

Year 9

C

\—J

Slower Ball

First Two Fingers

Thumb

Middle
Finger 1.4ex
I Irmger
’Spin
Thumb

cket

Batting stroke selection

LEG SIDE




[ (AN SELECT THE APPROPRTATE SHOT AT THE CORRECT TIMES TO QUTWIT
MY OPPONENT

[ CAN PLAY A FULL SNGLES AND DOUBLES GAME AND T KNOW MOST OF
THE RULES.

[ CAN EXPLATN THE COURT DIMENSTONS AND THE LIN
BOTH SINGLES AND DOUBLES.

[ CAN ERPLAIN HOW MY PERFORMANCES ARE STMILAR TO AND DIFFERENT
FROM OTHERS.

€5 YOU USE FOR

HEART  RESTLIENCE )

[ HAVE SHOWED GOOD RESTLIENCE WHEN [ HAVE BEEN LOSTNG TN A MATCH
[ HAVE SHOWN RESILIENCE WHEN WORKING WITH MY PARTNER IN

DOUBLES THIS TERM

[ HAVE SHOWN GOOD RESTLIENCE WHEN [ HAVE PLAYED
THIS TERM

HANDS

[ AM ABLE TO USE GROUNDSTROKES EFFECTIVELY TO RALLY WITH MY
PARTNER

[ (AN DEMONSTRATE BOTH THE FOREHAND AND BACKHAND SHOT WHEN
PLAYING TN A COMPETITIVE MATCH

WHEN SERVING, LAM SUCCESSFUL IN MY PLACEMENT

SINGLES MATCHES

[ (AN USE A VARTETY OF DIFFERENT SHOTS, INCLUDING THE DROP SHOT,
108, VOLLEY AND SMASH WHEN PLAYING IN A COMPETITIVE MATCH

READY POSITION

F ? Purpose: Your ready
Ed/s position helps you to get
a 0 prepared for any shot that
may come your way next.

Teaching points:

v Be on your toes

¥ Hold the racquet loosely with both hands
v Bend your knees

v Face your opponent

FOREHAND

& Purpose: Known as a
Dot groundstroke and is
s A /“ played on your
i \I stronger side with one
(&) hand on the racquet.

Teaching points:

v Split step into a ready position
 Turn sideways to your strongest hand
+/ Point with your other hand to the ball
v Swing your racquet low to high
 Finish your swing over your shoulder
with a high elbow

" BACKHAND

Pz

| ,,I “‘\

Teachlng points:

v Split step into ready position

v 2 hands on the racquet, turn the opposite
way from your forehand

v Swing the racquet low to high

v Finish your swing over your shoulder with
a high elbow

Purpose: Also known
as a groundstroke and
is commonly played with
2 hands on the racquet
on your weaker side.

SERVE

Purpose: It is the first shot and
starts the game. It has been
said to be the most important
shot of the whole game.

Teaching points:
|/ Use a chopper grip
|/ Stand sideways with your feet behind the line
|V Throw the ball up above your head at about 1
‘o'clock.
| Swing your racquet back and extend your arm
annhupwnndsnnmballlndﬁnshbyyou

e

~ \+ VOLLEY

. Purpose: Commonly
referred to as an
‘approach shot'. When the
player has approached
the net and hits the ball
without a bounce.

Teaching points:

v Use a chopper grip

v Stand at the net in a high ready position
v Step forward as you hit

v Do not swing, let the ball bounce of your
strings (block the ball)

. SMASH
. Purpose: This shot is
played above your head.
*" You can hit the ball at
. high speed on your

opponent's court.

Teaching points:
v Be sideways on
v Legs should be bent with non-racquet
arm pointing to the ball
 Extend your racquet arm up, and use
your body to create power
V Follow through by your opposite leg

Year 9 Tennis

Toss the ball with the
non racquet hand

Release the ball high

As you toss the ball
bring the racquet
down and back

Hit the ball as high




PSHE- Knowledge organiser- ¥9- Term 3

Living in the wider world

Citizenship:
Diversity
and
Prejudice

Genocide: an act committed with intent to destroy, in whole or in part, a
national, ethnic, racial or religious group.

Prejudice: preconceived opinion that is not based on reason or actual
experience.

Stereotyping: when we categorise or make assumptions about people
based on basic characteristics.

Generalising: making a general or broad statement by inferring from
specific cases.

Scapegoating: the practice of singling out a person or group for
unmerited blame and consequent negative treatment.

Discrimination: the unjust or prejudicial treatment of different
categories of people, especially on the grounds of race, age, sex, or
disability.

A cohesive community celebrates everyone's differences

Justice: Just behaviour or treatment. The quality of being fair and
reasonable. The administration of the law or authority in maintaining
this.

Remember!

We will be open and honest, but not discuss directly our own and others personal/ private life.
Your teacher will not repeat what is said in the room except if she/he is concerned we are at risk.
It is ok to disagree but we will not judge.

Taking part is important but we have the right o pass.

We will not make assumptions and we will listen to others' point of view.

We know that there are no stupid questions but we will use appropriate language.

If we need further help or advice, you know you can talk o your teachers, form tutor and SSOs.




Marriage:
Marriage is an important rite of passage in Christianity, For
Christians, marriage is traditionally accepted as being between a man
and women, and is seen as the correct context in which to have a
sexual relationship and children.
The Christian purpose of marriage:
1. To provide companionship, friendship and support between a
husband and wide
2. To enjoy a sexual relationship within marriage andto have
children and raise a family
3. To make a lifelong commitment to create astable
environment to raise a family.

Christian beliefs about marriage:
o Most Christians believe marriage is a sacrament — a ceremony
where God is involved (this shows that
marriage is sacred and binding)
o Marriage is believed to be a gift from God
o Provides security and a stable environment for children
o Althoughitis important, God does not want everyone to be married.

Jesus himself wasn’t married and some priests will not marry as they
have a vocation from God.

Sexual relationships:
Christians believe sex is a gift from God and intended
for procreation, therefore they believe that sex should
take place only within marriage.

Families
Family life has changed over the past 50 years as
society has modernised.
Types of families:
1. Nuclear family- two parents (man and women)
and their children living
together

Teachings on sexual relationships in the Bible:
o Causal relationships are wrong —marriage intended

for sexual relationships. 2. Blended family — Stepfamilies that have joined
o Adultery is forbidden in the Ten together through remarriage
Commandments 3. Extended family — parents, children,
o Married couples should be faithful to each other as grandparents, aunts, uncles and
promised in the marriage vows. cousins.
o St Paul in the Bible condemns homosexual 4. Single parent family — One parent and
acts children

5. Family with same sex parents — Two
same-sex parents and children.
Purpose of the family: Christians
believe that family was God’s intention for

Alternative Christian views:
In a modern society, some of the ideas in the Bible
about sexual relationshipsare
outdated. A sexual relationship between a cohabiting humans when he created
couples who are in a stable relationship can be them. Christians believe the purpose for a family
allowed. is:
Provide the right place for a marriage couple to
have children, to teach morals, to raise children
into the Christian faith.

Gender prejudice and discrimination:

Role of men and women in the family:
O Men and women were both made in the image of God

ooking after thehome and children/
different roles.

Gender discrimination in the Church:
Catholic Christians only accept men to hold the position of bishops,

as male.

Promoting gender equality:

inequality goes against human rights.

1 Some parts of the Bible suggest that God made women as a ‘helpmate’ for
man. A literal interpretation could be men are the head of the household with women

[1  Catholics accept men and women were created in the image of God but given

priests or deacon and pope. They believe the roles represent Jesus. Who

Many Christian organisations promote gender equality, including gender
equality, including Christian Aid and Tear fund, which believe that gender

Roles within the family
Family is important to Christians. Each member within the family is
seen to have a special role that they believe God expects them to
fulfil.
Christian teachings about the importance of family and role
within the family:

Parents:

- Responsibility to get married and have children asthat is what God
intended
- Parent have a responsibility to love and supporttheir children
and keep them safe
- Christian parents have a responsibility to raise their children
as Christians — getting them baptised or Christened and
introducing them to the Christian community.
Children:
- The Bible teaches that children should honour; obey and
respect their parents
- Children are expected to care for their parents in old age.




The family in the local parish

How can the parish help families? Family Planning: . Important ke
v Supporting couples who are expecting children e.g. organising classes Contraception is the intentional prevention of pregnancy. words:
?/nd soca e\grrg];tznising family events and family worship services Types of contraception: L Monogamy: marriage is
v Running parental supbort classes Natural methods of contraception include the rhythm method, only to one person at a
L ning p PP > which a is when a couple have sex when the women is not time Cohabitation:
v Being involved in rights of passage, e.g. christeningsor ovulating. L iving tocether in é sextal
marriage within the family _ Artificial method are human made — made objects designed relatignshgip without being
v Encouraging children to attend Sunday School and special to prevent pregnancy. They include the condom and the birth married Sacraments — an
services e.g. crib survives B _ control pill. outward ceremony
v Providing counselling support ) ) ) through which God’s
Catholic beliefs about contraception: grace is given Diocese — a
Worship: - Every sexual act should be open to the possibility of Church area under
- Local churches will hold family services to allow familiesto children. _ _ direction of the visit
worship together - Contraception prevent the main purpose of sex- having Gender  prejudice-
- In Sunday School children learn more about the Christian faith children. . L believing one sex is
- Contraception could encourage promiscuity. superior to  another
Rights of passage: . . . G_end_er_ _ _
Rites of passage celebrate key points in a person’s life. They include occasions Liberal Protestant beliefs about contraception: discrimination- putting
such as birth and marriage. The Church recognises the importance of these key - TEZ;E?énaspl;Lpg)S(e roefss?ieoxnIgfplrg\%et?ttaltwée?lu; ﬁ; lIJZr?(IngrTgr th%areu:.dlce Into action
events as a family. Relatives and friend may attend a baptism or marriage pie P p and treating one sex )
ceremonies as well as members of the wider Church community. ] \é:v(l)r?traception is a sensible method of family planning géiferently because of their

- Using artificial methods of contraception does not go
against God’s teachings

Divorce:
Divorce is the legal termination of a marriage and different Christians hold
different views about it. Attitudes to divorcehave significantly changed in -
recent years.

What Catholic Christians believe: Sources of wisdom and authority:

2 Jesus Szg’ggsgrlsengvﬁg?%msed because marriage is for life * ‘A man will leave his father and mother and be united to hiswife, and the two
o Marriage is a sacrament and divorce would break the promises made by will become one ﬂes}.l’ (Mark10:6-9)
God. *  “You shall not commit adultery’ (Exodus20:14)
* ‘Do you not know that your bodies are temples of the Holy Spirit” (1 Corinthians
What liberal Protestants believe: 6:18-20)
o Divorce is not be encouraged, but may sometimes be necessary * ‘Children are a heritage from the Lord, offspring are a reward from him’ (Psalms
o Divorce must be acceptable as the UK law allows it 127:3)
o People can make mistakes and God is ready to forgive sins * ‘Therefore what God has joined together, let no oneseparate.” (Mark 10:9)

Humanists and atheist views:
Humanists believes that the breakdown of a marriage can cause problems within
the family




Science — Year 9 — Term 3 part 1 — Fundamentals of Chemistry — Building Compounds

The three states of matter are solid, liquid and gas.

For a substance to change from one state to another,

energy must be transferred.

The particles gain energy. This results in the breaking
of some of the attractive forces between particles

during melting

To evaperate or beil a liquid, more energy is needed
to overcome the remaining chemical bonds between

the particles

Note the difference between boiling and evaporation.
When a liquid evaporates, particles leave the surface
of the liquid only. When a liquid boils, bubbles of
gas form throughout the liquid before rising to the

surface and escaping.

The amount of energy needed for a substance to
change state is dependent upon the strength of the
attractive forces between particles. The stronger
the forces of attraction, the more energy needed
to break them apart. Substances that have strong
attractive forces between particles generally have

higher melting and boiling points.

The particles in a solid are arranged in a regular
pattern. The particles in a solid vibrate in a fixed
position and are tightly packed together. The particles

in a solid have a low amount of kinetic energy.

Solids have a fixed shape and are unable to flow like
liquids. The particles cannot be compressed because

the particles are very close together.

The particles in a liquid are randomly arranged.
The particles in a liquid are able to move around each
other. The particles in a liquid have a greater amount

of kinetic energy than particles in a solid.

Liquids are able to flow and can take the shape of
the container that they are placed in. As with a solid,
liguids cannot be compressed because the particles
are close together.

The particles in a gas are randomly arranged.
The particles in a gas are able to move around
very quickly in all directions. Of the three states of
matter, gas particles have the highest amount of

kinetic energy.

Gases, like liquids, are able to flow and can fill the
container that they are placed in. The particles in a
gas are far apart from one another which allows the

particles to move in any direction.

Gases can be compressed; when squashed,

the particles have empty space to move into

Metallic bonding occurs between
metals only. Positive metal ions are
surrounded by a sea of delocalised
ions

electrons. The are tightly

packed and arranged in rows.

There are strong electrostatic forces
of attraction between the positive
metal ions and negatively charged

electrons.

Pure metals are too soft for many
uses and are often mixed with other
metals to make alloys. The mixture
of the metals introduces different-
sized metal atoms. This distorts
the layers and prevents them
from sliding over one another
This makes it harder for alloys to be

bent and shaped like pure metals.

Ionic bonding occurs between a metal and a
non-metal. Metals lose electrons to become
positively charged. Opposite charges are

attracted by electrostatic forces — an ionic

bond.
7

Ionic Compounds

Ionic compounds form structures called giant
lattices. There are strong electrostatic forces
of attraction that act in all directions and
act between the oppositely charged ions that

make up the giant ionic lattice.

Covalent bonding is the sharing of a pair of electrons between atoms to gain a
full outer shell. This occurs between non-metals only. Simple covalent bonding
occurs between the molecules below. Simple covalent structures have low
melting and boiling points — this is because the weak intermolecular forces
that hold the molecules together break when a substance is heated, not the
strong covalent bonds between atoms. They do not conduct electricity as they
do not have any free delocalised electrons.

Manoscience refers to structures that are 1-100nm
in size, of the order of a few hundred atoms.
Nanoparticles have a high surface area to volume
ratio. This means that smaller amounts are needed
in comparison to normal sized particles. As the side
length of a cube decreases by a factor of 10, the

surface area to volume ratio increases approximately

Dot and cross diagrams are useful to show the bonding in simple
The outer electron shell of each atom is represented as a circle, the circles
from each atom overlap to show where there is a covalent bond, and the
electrons from each atom are either drawn as dots or crosses. There are two
different types of dot and cross diagram — one with a circle to represent the

outer electron shell and one without.

You should be able to draw the dot and cross
diagrams for the following simple covalent structures: | H H
chlorine, oxygen, nitrogen, water, ammonia,

hydrogen chloride and methane. H

Graphite is made up of
layers of carbon arranged
in hexagons

|
is bonded to three other !'5;

- .:+:‘:'

Each carbon i i

carbons and has one free ™
delocalised electron that is

able to move between the layers. The layers are held

00 @0U OoOOE,
S ade 10 12 )
C(J%W..W e
b L A IR
Lo Ceolecceigle
Each carbon atom is bonded ®
- to four other carbon atoms, o
‘ # * ¢ ' making diamond very @ o] ©
strong. Diamond has a high & o)
4 + + + SRR
melting and boiling point. © ®
1]

4444
4444

Large amounts of energy are
needed to break the strong covalent bonds between
each carbon atom. Diamond does not conduct

electricity because it has no free electrons.

Silicon dioxide (silicon and oxygen atoms) has a
similar structure to that of diamond, in that its
atoms are held together by strong covalent bonds.
Large amounts of energy are needed to break the
strong covalent bonds therefore silicon dioxide,

like diamond, has a high melting and boiling point.

together by weak intermolecular forces. The layers of

carbon can slide over each other easily as there are no

strong covalent bonds between the layers. Graphite

has a high melting point because a lot of energy

is needed to brezk the covalent bonds between the

carbon atoms. Graphite can conduct electricity.

Graphene is one layer of _ 0. _ & __ 0 _ 0

graphite. It is very strong
because of the covalent
bonds

atoms. As

between the carbon

with graphite, o b

each carbon in graphene

is bonded to three others with one free delocalised

electron. Graphene is able to conduct electricity.

Graphene, when added te other materials,
make them even stronger. Useful in electricals

composites.

can

and

Name of Particle

1-100nm

nanoparticle

fine particles (PM2s) 100-2500nm

2500-10000nm

coarse particles (PMig)

Polymers are long chain molecules that are made up
of many smaller units called monomers. Atoms in a
polymer chain are held together by strong covalent
bonds. Between polymer molecules, there are
intermolecular forces. Intermolecular forces attract
polymer chains towards each other. Longer polymer
chains have stronger forces of attraction than shorter

ones therefore making stronger materials.

Molecules of carbon that are
shaped like hollow tubes or
balls, arranged in hexagons
of five or seven carbon atoms.

They can be used to deliver

drugs into the body.
Buckminsterfullerene has the formula Ceo

Carbon Nanotubes are tiny carbon cylinders that
are very long compared to

their width. Nanotubes can . - X

conduct electricity as well ¢

as strengthening materials ':°'°: |
without adding much N :-.'
weight. The properties of 3

carbon nanotubes make them

useful in electronics and nanotechnology.



Science — Year 9 — Term 3 part 2 — Fundamentals of Physics — Powering the world

Current and Circuit Symbols

Current: the flow of electrical charge.

Potential difference (voltage): the push of electrical charge.
Resistance: slows down the flow of electricity.

cell ‘“— dosed |5 o0 | fuse | ==
N
resistor —D— ammeter 4@ LDR @
e
e
battery 4|H|7 voltmeter @ LED 4@*
st —@— bulb —®_ thermistor —i’—
resistor
open | —o0—| diode @
Static

A build-up of static is caused by friction. When materials
are rubbed together, the electrons move from one to the
other. One material becomes positively charged and the
other is negatively charged. The positive charges do not
move.

Too much static can cause a spark. If the potential
difference is large enough, the electrons can jump across the
gap - this is the spark.

repulsion

Series Circuits

\. f + +
attraction repulsion
Electric charges create an electric field. The closer you get

to the object, the stronger the field. The electric field can
be shown by drawing field lines, they go from positive to

The National Grid

The National Grid is a system of cables and transformers. They transfer electrical
power from the power station to where it is needed. Power stations are able
to change the amount of electricity that is produced to meet the demands. For
example, more energy may be needed in the evenings when people come home
from work or school. Electricity is transferred at a low current, but a high voltage
so less energy is being lost as it travels through the cables.

Mmoot

Balha
Step-up transformers — increase the voltage )
as the electricity flows through the cables. Vs il

Step-down transformers - decrease the
potential difference to make it safe.

Electricity in the Home

AC - alternating current. Constantly changing direction - UK
mains supply is 230V and has a frequency of 50 hertz (Hz).
DC - direct current. Supplied by batteries and only flows in
one direction.

Cables - most have three wires: live, neutral and earth. They

are covered in plastic insulation for safety. outer

insulation cable grip

Live wire — provides the potential difference from the mains.

Neutral wire — completes the circuit.

Earth wire - protection. Stops the appliance from becoming live. Carries a current
if there is a fault.

Touching the live wire can cause the current to flow through your body. This
causes an electric shock.

Series and Parallel Circuits

A circular magnetic field is produced when a current is

passed through a conducting wire. This produces an induced

The magnetic field is the area surrounding a magnet where the force
is acting on another magnet or magnetic material It can be observed
using & compass placed at different points around a bar magnet
The field lines can be drawn by using the compass to mark the direction at
a range of points.

A magnet always causes & magnetic material to be attracted. The strength
of the magnetic field is determined by the proximity to the magnet.

When looking at & diagram of magnetic field lines, the force is strongest

where the lines are closest together. The magnetic field of the magnet is strongest at the poles. The direction
of the magnetic field shows the direction the force would act on another north pole.

As a result, magnetic field lines always come away from the north pole (like

poles repel) and towards the south pole (unlike poles attract). maﬂgeﬁtnc—
The earth produces & magnetic field and a magnetic compass uses this to help —

aid navigation. The core of the earth is made of iron (2 magnetic material). A Current
compass contains & small bar magnet shaped as a needle, which points in the Furce

direction of the earth’s magnetic field.

From the equation we can see that the force acting on a given length of wire (eg.
1m) will be increased if the current increases or the magnetic flux density increases.
If the current flowing through a wire is parallel to the magnetic field, then no force is
produced — there is no moter effect.

You might be shown a diagram and asked to indicate the direction of the force produced.
Fleming's left-hand rule can help you do this because it represents the relative

1 orientation of the force produced by the motor effect
. magnet.
Once one of the components is broken then all
the components will stop working. i i i
p p 8 Switching off the current causes the magnetism to be lost. A generator uses an induced potential to produce an alternating current
coil
The strength of the magnetic field can be increased by A mMagnet on an axle is positioned in a coil of wire The poles of the magnet
Potential difference — the total p.d. of the supply is wat = Vy *V,  increasing the current flowing through the wire. The strength ~ magnet are on the outer edges as the magnet is spun on the axle. Every —
shared between all the components. X ) 3 1
of the magnetic field is stronger closer to the wire. half-turn on the axle rotation, the poles are reversed (swap sides in axie
l;urrent}; whe;ireverrthi ammeter [s placed in 2 serles I, =L the coil) and this causes the induced potential to change direction.
circuit the reading is the same. Coiling the wire to form a solenoid will zlso increase the ) . . . . conduct
o " This produces an alternating current in the conducting wire onducter
Resistance - In a series circuit, the resistance will Ry = R, + R, strength of the magnetic field. The strength of the magnetic (wtre}

negative.
If a charged object is placed near the field, it will experience

a force. The force becomes stronger as the charged object
gets closer.

Parallel Circuits

are more useful.

charge flow = current x time

When the wire carrying the current is coiled, the motor effect acting on it

potential difference = current x resistance

power = potential difference x current

power = (current)? x resistance

energy transferred = power x time

energy transferred = charge flow x potential difference

add up to make the total resistance.

They are much more common - if one component stops
working, it will not affect the others. This means they

Potential Difference - this is the same for all components.

Current - the total current is the total of all the T,
currents through all the components.

Resistance - adding resistance reduces the total resistance.

vV, =V,

o =1, + L+ 1 B}

Current
out

solenoid you can...

causes the wire to rotate. This is how an electric motor works.

« add an iron core;

- increase the number of coils in the wire;

Coil Rotating in
Arrow Direction

An electromagnet is a solenoid with an
& : g iron core. Electromagnets are induced
rrent
u magnets and can be turned on and off.
Graphite Brush
urrent

Electric motors, loudspeakers, electric
bells and remotely controlled door
locks all use electromagnets.

field created by a solenoid is strong and uniform throughout.

' s

Current
in

« increase the current passing through the wire.

A transformer changes the voltage using an induced potential (electromagnetic induction).

Transformers only work for an alternating current potential difference. A transformer is simply two coils of

wire (primary coil and secondary coil) connected by an iron core.
There are two main types:

Step-down transformers: decrease (step-down)
the voltage. There are more primary coils than

Step-up transformers: increase (step-up) the
voltage. There are fewer primary coils than there

there are secondary coils.

are secondary coils.

To increase the strength of the magnetic field around a
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